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(m) a1 (cm) (cm) SE(E
8—1 511 O1O010[O1O]0 8.0 75 14.0 24.7 15 340
82 i olololololo] so 75 14.0 247 2.0 340
9-2 olololololo] 9o 75 14.0 26.0 25 430
8—4 ololo]ololo] so 75 19.0 29.7 43 550
924 > olololololol 9o 75 19.0 31.0 43 640
8—4S% ;i O 8.0 75 14.0 24.7 4.3 380
9145 olololololo] 9o 75 14.0 26.0 43 450
9-6 » olololololol 9o 75 19.0 31.0 6.1 640
9512 + 1 olololololo] 95 75 22.0 347 126 1000
95-16 » 1 olololololo] 95 75 26.0 38.7 16.7 1330
10-3 » o O 10.0 75 19.0 323 35 670
7 860
123 »vus _|o]o 12.0 75 19.0 35.0 35 550
133 » o O 13.0 75 19.0 36.3 35 960
14-3 5 i <> O 14.0 75 19.0 37.7 35 1060
12-5 s— 115 <F>| O 12.0 75 19.0 35.0 5.0 940
135 o O 13.0 75 19.0 36.3 5.0 1050
14-5 » o TF O 14.0 75 19.0 37.7 5.0 1160
15-5 F—/8—1/75 <|‘> O 15.0 75 19.0 39.0 5.0 1280
16-5 » o TF O 16.0 75 19.0 40.3 5.0 1400
137 »vus O 13.0 75 19.0 36.3 7.0 1220
1U—7 rvos TF O 14.0 75 19.0 37.7 7.0 1350
15-7 F—/8—1/75 <|‘> O 15.0 75 19.0 39.0 7.0 1490
16-7 » o TF O 16.0 75 19.0 40.3 7.0 1630
177 »vus O 17.0 75 19.0 417 7.0 1780
14-10 515 O 14.0 75 19.0 37.7 10.0 1510
15-10 715 O 15.0 75 19.0 39.0 10.0 1650
16—10 5115 <> O 16.0 75 19.0 40.3 10.0 1810
14-10 515 <t> 14.0 75 22.0 40.7 10.0 1540
15-10 5——11s <p> 15.0 75 22.0 42.0 10.0 1690
1610 5——11s <p> 16.0 75 22.0 43.3 10.0 1850
16.5—15 115 16.5 75 22.0 44.0 15.0 2450
(#i12)14 -5 14-55<t> |<b> 14.0 160 19.0 27.8 5.0 1090
5 —/X—1/160
(#1£)15-5 15-5-CA 15.0 100 19.0 34.0 5.0 1330
5 —/¥—1/100
(#2165 16-5-CA 16.0 100 19.0 35.0 5.0 1460
F —/$—1/100
(#i2)15 -7 15-7S<b> |<b> 15.0 110 19.0 32.6 7.0 1330
F —/3—=1/110
()16 -7 16—7-CA 16.0 100 19.0 35.0 7.0 1490
F —/$—1/100
()16 -7 16-7S<t> |<b> 16.0 110 19.0 335 7.0 1450
F—/X—1/110
(#i1£)14 -5 14-55<F> |<F> 14.0 140 19.0 29.0 5.0 1120
F—8—1/140
(#i1£)16 -5 16-55<F> |<¥> 16.0 140 19.0 30.4 5.0 1330
F—8—1/140
()16 -7 16—-75<F> |<¥> 16.0 140 19.0 304 7.0 1510
F—s8—1/140
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15-22 OO0 15.0 85 24.0 41.6 22.0 2410
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7N -1/75 7.0 75 19.0 28.3 500
14-5 Frns o lololo 14.0 — 119.0 30.0 50 | 1240
TR )TN - 7.0 J=T=IN = 30.0 30.0 740
7N -1/75 7.0 75 19.0 28.3 500
15-5 B o lololo 15.0 —119.0 30.0 50 | 1350
TR )TN - 8.0 /=T-IN = 30.0 30.0 850
7 -1/75 8.0 75 19.0 29.7 580
16-5 B o lololo 16.0 — 119.0 30.0 50 | 1430
TR )TN - 8.0 J=T=IN = 30.0 30.0 850
7N -1/75 7.0 75 19.0 28.3 500
14-7 EB o 5 lololo 14.0 — 1190 30.0 7.0 | 1270
TR )TN - 7.0 J=T=IN = 30.0 30.0 770
7N -1/75 7.0 75 19.0 28.3 500
15-7 EBm o 5 lololo 15.0 — 1190 30.0 7.0 | 1390
TR )TN - 8.0 /=T-IN = 30.0 30.0 890
7N -1/75 8.0 75 19.0 29.7 590
16-7 BB 5 lololo 16.0 — 1190 30.0 7.0 | 1480
TR )TN - 8.0 J=T-IN = 30.0 30.0 890
. 7N -1/75 7.0 75 19.0 28.3 500
17-7% i\ 7 /7 / O[O0 17.0 — 19.0 30.0 7.0 1620
TAE )TN - 10.0 | /-7 - 30.0 30.0 1120
7 -1/75 9.0 75 22.0 34.0 1010
16-10 Frs o lololo 16.0 —122.0 35.0 100 | 2120
TAE )TN - 7.0 /=T-IN = 35.0 35.0 1110
. 7 -1/75 9.0 75 22.0 34.0 1010
17-10% i\ 7 /7 / 01010 17.0 — 22.0 35.0 10.0 2290
TAE )TN - 8.0 /=T-IN = 35.0 35.0 1280
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